PAPER-II
CRIMINOLOGY

Signature and Name of Invigilator

1. (Signature)

OMR Sheet No. :

To be filled by the Candidate
(Name)
2. (Signature) Roll No.
(Name) (In figures as per admission card)
Roll No.
Time : 1Y/, hours] Maximum Marks : 100
4
Number of Pages in this Booklet : 12 Number of Questions in this Booklet : 50
Instructions for the Candidates qhgnteat & forg e
1. Write your roll number in the space provided on the top of | 1. Tl I % H AT WH W I T e |
this page. 2. 9 WE-OF H UE Sgaeedd U § |
2. This paper consists of fifty multiple-choice type of | 3, oden UR™T 89 W, Wgﬁﬂ?ﬂ MU T & SR | Ueet
questions. o _ dfe e AT SRR @ie qe e e
il be GV 0 you.Inhe st minuie, yu arorequesied | oo 1% S, Frd o et o g
to open the booklet and compulsorily exémine it as below : @ Wfﬁ ) AT R %Eﬂz bl W%m 5 a%ﬁ;r /
(i) To have access to the Question Booklet, tear off e« | Efﬁ §é e ) /
the paper seal / polythene bag on the booklet. Do not forT iferefie S bl gt wihR T A |
accept a booklet without sticker-seal / without (i) ®a¥ g ¥ 3¢ FREIER U=-giast & g qur
polythene bag and do not accept an open booklet. TvAl W WE st AT Y T o B A ™
(ii) Tally the number of pages and number of questions T gﬁ-qTﬁ gﬁaa;[ S TSI HH o ar TEART 3
in the booklet with the information printed on the T oar difEe § T ﬁ st feelt oft yR wt
cover page. Faulty booklets due to pages/questions aﬁ:!:rﬁ uﬁaw hERT T BF e IH g I
missing or duplicate or not in serial order or any ; ﬁ
other discrepancy should be got replaced immediately : jﬂ-ﬁ 1;? FI‘FTE 3 5 wH
by a correct booklet from the invigilator within the Tah forg = ' T
period of 5 minutes. Afterwards, neither the At St Te-gf Ao ot S oiR T @ smaen
Question Booklet will be replaced nor any extra sfafte qua fear s |
time will be given. (iil) T Sirar & 91 OMR U5 i HH G 3T T9-JReeht
(iii) After this verification is over, the OMR Sheet Number W AT F T |
should be entered on this Test Booklet. 4. WW é;fgrq‘ IR 3T ﬁm (A) (B) (C) qar (D) ﬁ'&
4. Each item has four alternative responses marked (A), (B), T ¥ | T G S F g H ﬁq’@ W T FET E
(C)and (D). You have to darken the circle as indicated below S ¥
. . RIEI |
on the correct response against each item. ‘ o) T TR |
Example : (&) ® O 3%”"@ @ © % ©
where (C) is the correct response. 5. WAl % ST A He O | o X i T OMR W6 Wt
5. Your responses to the items are to be indicated in the OMR 3ifehd T € | A AT OMR W W 153 T g & 37t
Sheet given inside the Paper | Booklet only. If you mark Tt 311 T W SR foeAifhd ed €, At ST Joaih
atany place other than in the circle in the OMR Sheet, it will T2t &
not be evaluated. : . ;
. ed. o 6. 3T f5a T MR B FHEE TE |
6. Read instructions given inside carefully. T ‘IF{*_'W i ‘
7. Rough Work is to be done in the end of this booklet. 7. o wH (Rough Workﬁ) = aﬁ_ TEW a%ﬁal'
8. If you write your Name, Roll Number, Phone Number or 8. & OMR w3 T M = el 3 T,
put any mark on any part of the OMR Sheet, except for the TR, B T A1 FHE 4 o e e o dew A
space allotted for the relevant entries, which may disclose T, b A € I A YT < TN €, A B
your identity, or use abusive language or employ any other 3T I T B VAN RS &, O Wl & o e
unfair means, you will render yourself liable to it 5 5T 9 © |
disqualification. 9. 3TUH T TAT B W oI OMR T RI%Th Telsd
9. You have to return the original OMR Sheet to the invigilators A AETEE & 3T T gERg % 9 39 O 9y
at the end of the examination compulsorily and must not e T AT | EATE e g
carry it with you outside the Examination Hall. You are qg;iﬁwq qﬁm ﬁ?gﬁﬁ ¥ w
however, allowed to carry duplicate copy of OMR Sheet on OMR s hbd 5
conclusion of examination. 10. %aet el/wTel STe @ge U BT & gEAT B |
10. Use only Blue/Black Ball point pen. 11, Fre oft PR T HUTE (FAFALY) AT ATT A G H
11. Use of any calculator or log table etc., is prohibited. TanT afed € 1 o
12. There is no negative marks for incorrect answers. 12. TTeId SRI o foTT g 3k 1 =&l S |

S-68-13

P.T.O.



CRIMINOLOGY

Paper - 11

Note : This paper contains fifty (50) objective type questions, each question carrying two (2)

marks. All questions are compulsory.

1. “Criminology deals with the making
of Laws, breaking of Laws and
reacting to breaking of Laws.”

Who made this statement ?
(A) Cesare Beccaria

(B) E.H. Sutherland
(C) Cesare Lombroso
(D) Robert Merton

2. What type of crime is committed by
a physician or a doctor who
prescribes unnecessarily diagnostic
tests ?

(A) Economic Offence
(B) Narcotic Crime

(C) White Collar Crime
(D) Fraud

3. Which of the following is an
economic offence ?

(A) Auto theft

(B) Pick pocketing
(C) Cattle theft

(D) Food adulteration

4.  Which among the following is a
property offence ?

(A) Riot

(B) Grievous hurt
(C) Theft

(D) Rape

5. Which is the State in the Country that
is oftenly identified with insurgency ?

(A) Tamil Nadu
(B) Gujarat

(C) Karnataka
(D) Chhattisgarh

Paper-I1

6.

Match the items in List-1 with items
in List-11.

List—1 List - 11
I. Defensible space (a) Kautilya
I1. Arthashastra (b) Bentham
I1l. Felicific calculus (c) Thrasher
IV. Gangs (d) Newman
Codes :

I inm v

(A @ B © @
B) () (@ (@ (@
€ @ @ @O (©
O) © @ @ ()

Who has propounded constitutional
theory to explain criminal tendency
and behaviour ?

(A) Hooton (B) Tarde

(C) Goddard (D) Lombroso

Who has propounded the theory of
Culture Conflict ?

(A) Cohen (B) Merton
(C) Sutherland (D) Sellin

Assertion(A) : Crime is not the
quality of an act but it is the
label which society affixes on
the select few.

Reason (R) : Criminal Justice
System is deeply influenced by
money and political power.

Codes :

(A) (A)istrue, but (R) is false.

(B) (A) is false, but (R) is true.

(C) Both (A) and (R) are true, but
(R) is not the correct
explanation of (A).

(D) Both (A) and (R) are true and
(R) is the correct explanation of
(A).
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10.

11.

12.

13.

14.

15.

16.

Who explained the principle of
Economic Determinism ?

(A) Aristotle (B) Bonger
(C) KarlMarx (D) Plato

Who suggested that both goals and
means are rejected in the society ?

(A) Merton (B) Durkheim
(C) Sutherland (D) Cohen

Among the following who has

contributed to the concept of
Phrenology ?

(A) Hooton (B) Gall

(C) Goddard (D) Mendel

What are misdirected psychological
drives causing antisocial behaviour
called ?

(A) Hlusion
(C) Perversion

(B) Fetish
(D) Delusion

Among the following, who has
studied ‘Intelligence Quotient’” as a
cause of criminal behaviour ?

(A) Eyesenck (B) Freud
(C) Young (D) Cattel

What does the term ‘Dipsomania’
mean ?

(A) Compulsive physical beating
(B) Compulsive alcohol drinking
(C) Compulsive gender offence
(D) Compulsive pool diving

What is the legal status of the
findings obtained through brain-
mapping technique during
interrogation of suspects ?

(A) An aid in the investigation.

(B) Admissible in the court.

(C) Partial admissible in the court.
(D) None of the above.
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17.

18.

19.

20.

21.

What is the main feature of a
probability sample in criminological
research ?

(A) It includes all the main units in
the sample.

(B) It includes all the important
study units.

(C) It ensures a chance for each
study unit to be selected.

(D) None of the above.

Among the following, which method
of data collection is the oldest one ?

(A) Questionnaire

(B) Observation

(C) Interview technique
(D) Rating scale

What does the statistics of correlation
measure ?

(A) Statistical difference between
variables.

(B) Association between variables.
(C) Covariation between variables.
(D) Relationship between variables.

Which among the following
computer softwares is not a data
analysis programme ?

(A) PowerPoint

(B) Hardware Graphics
(C) Excel

(D) SPSS

The statement, “crime is both normal
and functional” is attributed to

(A) Freud

(B) Beccaria

(C) Emile Durkheim
(D) Lombroso

S-68-13



10.

11.

12.

13.

14.

15.

16.

s FraRoEe % A &
AT i & ?
(A) &
(C) et TRy

(B) IR
(D) w

foram sramn fob et e |reA B qE
T i Y fear Siar € 2

(A) = (B) @™

(C) TIvg (D) e

feffes & ¥ o Foer faam
(STt bl STEUROT | AMEH foar & 2
(A) & (B) et
©) Ters (D) ®HeA

Terd R FaEE ygia St aSt
forielt sqe@R St S <ol & A el
T2

(A) wif

(B) wHHIST a%]

(C) forpfer

(D) Tawm

frafefed 7 | e Tiiys =eRR
% PR % & H “Sifgsh T (3TH,)
1 areza fohar € 2
(A) oTEdE
(C) dm

(B) wiIE
(D) e

“HE” U 1 T 37 € ?

(A) TSR RIS ARG
(B) STeTRRY HEU

(C) STEAHRI AT ST

(D) reEehRI U eSSl

3= At fafy Ry Ay =t & qas
H YT STFhRT st 3T AT et & 2

(A) 3TIEYH H WETF |

(B) =™ H Wi |

(C) =7i¥l® &9 ¥ e | @i |
(D) SuWded § | I o TEl |

S-68-13

17.

18.

19.
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22.

23.

24,

25.

Assertion (A) : Deviance is not a
quality of the behaviour, but it
is quality of the interaction
between the person who
commits an act and those who
respond to it.

Reason (R) : Whether (or) not
labelling occurs depends on (1)
the time when the act is
committed, (2) who commits
the act and who is the victim,
and (3) the consequences of the
act.

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation of
(A).

(B) Both (A) and (R) are true, but
(R) is not correct explanation
of (A).

(C) (A)istrue, but (R) is false.

(D) (A)is false, but (R) is true.

In  Containment  Theory, the
phenomena that insulate some people
from deviance is

(A) Self-sacrifice

(B) Self-indulgence

(C) Conformity

(D) Self concept

The sub-components of crime are
l. An act

I1.  Criminal intention

I11. A law prohibitive the act
IV. Migration

Find the correct combination, using
the codes given below :

Codes :

(A) I, 1l and Il are correct.

(B) land Il are correct.

(C) Il and Il are correct.

(D) Hland IV are correct.

Find the odd one in the series.
(A) Questionnaire

(B) Interview schedule

(C) Observation sheet

(D) Snow-ball technique
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26.

27.

28.

29.

30.

Which one of the following is
correctly matched ?

(A) Atavism — Lawless-
ness

(B) Positive school - Lombroso

(C) Psychoanalysis — Merton

(D) Kleptomania  — Pleasure
principle

Disposal  options  for  children

available under the Juvenile Justice
Act are

I.  Sponsorship

Il.  Foster care

1. Adoption

IV. None of the above

Find the correct combination using
the codes given below :

Codes :

(A) land Il are correct.

(B) IVis correct.

(C) I, land IV are correct.
(D) I, 1l and Il are correct.

What does the Latin maxim
“Ignorantia Factum” — means ?

(A) Mistake of Law
(B) Mistake of Fact
(C) Mistake of Mind
(D) None of the above

Unlawful act of a child under the
following age is not an offence under
Indian Penal Code.
(A) 5years
(C) 9years

(B) 7years
(D) 12 years

Which among the following has
mandatory sentencing in India ?

(A) Indian Penal Code

(B) Criminal Procedure Code
(C) NDPS Act

(D) COFEPOS - Act
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24,
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28.

29.

30.
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31.

32.

33.

34.

35.

According to the Constitution of
India, Directive Principles of State
Policy are

I.  Fundamental Rights

Il. Guiding Principles for
Governance.

I11. Cannot be enforced by Courts.
IV. None of the above

Find the correct combination, using
the codes given below :

Codes :

(A) liscorrect.

(B) Iand Ill are correct.
(C) Il and Il are correct.
(D) IVis correct.

Good

Which of the following courts has a
special advisory jurisdiction ?

(A) High Court

(B) Supreme Court
(C) Any Civil Court
(D) None of the above

According to Merton, rejection of
goals and acceptance of means is
known as

(A) Innovation

(B) Rebellion

(C) Ritualism

(D) None of the above

An elder person having sex with a
child is

(A) Necrophile (B) Pedophile
(C) Sodomy (D) Incest

The order for awarding compensation
to a victim of crime is made under,
which section of Code of Criminal
Procedure ?

(A) Section 357

(C) Section 315

(B) Section 375
(D) Section 351

Paper-I1

36.

37.

38.

39.

40.

41.

Which of the
victimless crime ?

(A) Extremist Act
(B) Prostitution
(C) Murder

(D) Rape

following is a

Among the following, which is the
modern principle governing
punishment to offenders ?

(A) Retribution
(B) Reformation
(C) Revenge
(D) Deterrence

In which State or Union Territory
was cellular jail located ?

(A) Puducherry

(B) Goa

(C) Andaman & Nicobar
(D) Daman & Diu

Among the following which country
awards death penalty to offenders by
lethal injunction ?

(A) Germany

(B) United States of America
(C) Brazil

(D) Russia

At present, how many open-air jails
does the country have ?

(A) About 25 (B) About 35
(C) About 45 (D) About 55

In prison correctional programme
what does the term ‘Remission’
mean ?

(A) Reduction in sentence
(B) Temporary leave

(C) Pardon

(D) Monetary reward
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42.

43.

44,

45.

For whom are “Half-way homes” meant ?

(A) Highly educated prisoners

(B) Highly skilled prisoners

(C) Good conduct prisoners

(D) About to be released prisoners

Among the following which one is a
victimless offence ?

(A) Gambling (B) Homicide
(C) Theft (D) Hurt

All the proceedings under the Code
of Criminal Procedure for the
collection of evidence by a Police
Officer is known as

(A) Interrogation

(B) Investigation

(C) Charge Sheet

(D) All of the above

At the Police-Station, case diary is
usually used as

(A) An Oral evidence

(B) An aid to the court

(C) An aid to the victim

(D) None of the above

Read the following passage and
answer the question Nos. 46 to 50.

This theory of criminal
behaviour is reflected in the belief
that all important acts of social life
are carried out under the domination
of ‘example’. Through this the
process of criminal behaviour was
explained. This not only applied to
criminals, but also applied to other
types of behaviour such as suicides,
stealing and assassination. Such acts
are done as people imitate others.
Fashion and  Customs  were
distinguished. Fashion is
characteristic of the imitation that
takes place in crowds (or) cities
contact is close and frequent. Custom
refers to the phenomenon that occurs
in small towns and rural areas where
contact is less frequent and change
occurs less often.

46.

47.

48.

49.

50.
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10

All important acts of life, according
to the author are carried out due to

(A) Pleasure principle
(B) Examples

(C) Moral basis

(D) Anxiety

According to the author, these

principles are applied to
(A) Criminals

(B) Suicides

(C) Assassination

(D) All of the above

Characteristics of imitation are

divided into

(A) two types

(B) three types

(C) four types

(D) none of the above

According to the author, what takes
place when contact is close and
frequent ?

(A) Norms
(B) Custom
(C) Fashion
(D) Suicides

The author and the paragraph deals
with

(A) Labelling theory
(B) Fashion theory
(C) Imitation theory
(D) None of the above
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